t92 xreal 1 (TMNGetTQvYDDNRBd-
cMDitndNSjeQN9Idwuy?2)

October 27, 2020

Let vl_zreal 0 : t=0 be given. Let rl_zareal 0 : t=>t=-0 be given. Let
k6_numbers : + be given. Let k5_xcmplz_0 : t=¢ be given. Let vl_xzcmplx 0 :

t=0 be given. Assume the following.

VX0.(vlzreal 0 X0)=(VX1.(vlzreal 0 X1)=(-(—
rl_zareal -0 k6_numbers X0)A((—rl_zzreal 0 X0 X1)A(rl_xzreal 0
(k5_xemplz 0 X1) (k5_xemplaz_0 X0)))))

Assume the following.
VX0.(vl_xemple 0 X0)=(k5_zemplz 0 (kb_xempla_0 X0) = X0)

Assume the following.

VX0.(vlzreal 0 X0)=((vl_xemplz_0 (k5_xcmplz_0 X0))A
(vl _zreal 0 (k5_xemplz 0 X0)))

Assume the following.
VX0.(vlxreal-0 X0)=(vl_xemplz-0 X0)

Theorem 1

VXO0.(vlzreal 0 X0)=(VX1.(vl_zreal-0 X1)=(-(—

(1)

(2)

(3)

(4)

rl_zareal 0 k6_numbers (k5_xemplz 0 X0))A((—rlzzreal 0 (k5_xemplz_0

X0) (kb_zemplz 0 X1))A(rlzzreal 0 X1 X0))))



